Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Semester —VI Examination Dec. - 2011

Subject code: 351905 Date: 09/12/2011
Subject Name: Estimating, Costing and Contracting

Time: 02.30 pm — 05.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q.1 (@) What do you understand by cost estimating? State objectives of cost 07
estimating.
(b)  State and explain how various types of forging losses are estimated? 07

Q.2
(@) Define : (1) Fixed over heads (2) Market price (3) Profit 07
(4) Scrap value (5) Economic batch quantity (6) Obsolescence
(7) Floating over head
(b)  What is overhead allocation? List the different methods of overhead 07
allocation and explain any one.
OR
(b)  The prime cost of 500 laptop bags is 200000 Rs. Factory overheads 07
are 45% of prime cost, administrative overheads are 25% of factory
cost and sales overheads 20% of office cost and profit is 20% of
total cost. Find out sales price of laptop bag.
Q.3
(@) State elements of cost in welding. List the items included in each 07
element.
(b)  Find out B.E.P. from following 07
(1) Fixed cost 150000 Rs
(2) Sales cost 3.75 Rs / unit
(3) Material cost 1 Rs / unit
(4) Other variable cost 1.50 Rs / unit
(5) No. of unit produced 200000 Nos.
Represent it on Break even chart.

OR
Q.3 (@) Explain the break even piont with the help of break even chart. List 07
assumptions made in construction of B.E.chart.
(b) A 1000 x 1000 x 500 mm high open tank is to be gas welded (only 07
inner sides) from 0.4 cm thick M.S. plate.
Find the welding cost from following data.

Oxygen consumption 0.15m’ / hr
Acetylene consumption 0.08 m’ / hr

Filler rod consumption 1.75 m / m of weld
Cost of oxygen 60 Rs / m’

Cost of acetylene 400 Rs / m’

Cost of filler rod 80 Rs / kg



Q.4

Q.5

Q.5

(@)
(b)

(a)
(b)

Filler rod density 9 gms/cc

Filler rod Dia 0.25 cm
Fatigue allowance 5%
Labour rate 25 Rs/ hr
Welding speed 25 min /m of weld
Explain plain milling operation and
Derive formula T=L+V(d(D-d)+0.5
FxN

Considering 5 mm over run for plain milling operation.
Calculate the casting cost of 1000 C.I. pulleys from following data.
(pattern is to be supplied by customer)

Dia of pulley 15 cm

Length of pulley 7 cm

Through hole dia 4 cm

Cost of CI material 50 Rs/ kg

Melting charge 25% of material cost

Moulder charge 5 Rs / mould

Machining allowance 2 mm on each side

Density of CI material 7 gm /cc

Overhead charge 30% of material cost
OR

Define cutting speed and feed. Derive the equation to find out
turning operation time.

Differentiate between over travel and approach length.

Find out the time for taping the hole of 20 mm dia. with tap of 3mm
pitch up to a depth of 4 cm in 4 cuts. Cutting speed is 8 m / min. and
return speed of the tap is twice of its forward speed.

Identify problems of cost reduction. Explain areas of cost reduction
in brief.
List the various types of budget and explain master budget.

OR
State the conditions of contract and explain any two.
Explain the terms: (1) Book value, (2) Net profit value, (3) Work in
progress, (4) Gross domestic product, (5) Offer, (6) Acceptance, (7)
Consideration.
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